
l"fl s+-l#"Hl}il ff"i{f'fUHtl,il b""-fr:T"F{ TEr'$Hl[ffiH l3F'#F{'1,fl,'i
{}"-I t-sB:: :l:1" r-

tlaaearue norpeErrena

Atrpec norpe6rrenr
0TBerETgeHHoe,tHuo

Euqrrnsrenr T[-?01-0-2-1-T

0rrettoe ,'tflc,ro !,{ecf ua ---_rl_

Cep.flori, lllIlu
0rreTroe Epehn jlgilXl

Tene$!fl

Facr{or noa __j.l!E .S.!9{-lJ& Iy--9!.ltt
Farxol odp 0.I18,.iJ,d00 rJ/'t ny--.]!!-.$r
Facx0A ir slTo| i0,Q0A nlfiHt lv _EJt4

[,{ -rffm,rffi{ffi4rElrh"l 
=91

Iara BT€n

lluarl
tfior
t.t l

to6p Enoa

Irosn]

6oEp

Irrru]
En

Irow]
Enol-Eo6p

lroiisi
Tuap

lqac I

24-t7
?5-[7
2L-07

27-i7

?t-07
I0"07
;1-'17

01-08

02-08

0]-0fl
t{-0E
05-0e

06-08

07-08

08-08

09-08

rr]-08

11-08

l2-08

14-08

I]-UE
t6-08
17-0E

18-08

!9-08
20-08

-t
0.?92801

7. 0t4?61

?.144821

?.189881

2,206?41

2, 1420r 
I

2.09D721

2, DE56S 
I

2.0979
T.fi1.7]i

2.17i48I
2.1eE3El

l

?.11582 
|

2.03451

?,12i98
2.17999

?,?0048

2.28llti
2,?08Ji
2,1702h
, 

^lr]?
?,10980

2,1715?

?,24&ilE

2.19180

?,?0197
71Aq??

?.14187

T

T

L',LI
56.91
.o tl

I

6e.51

69.61

6?,51

6e.41

70.4t
70.?l
7r.4{

!1.')
/,J. J 

I

7r.41,-_t
11 1l

71 .51

71,5

71.5]

7r,h
7t.J
7i n

71.4
71 .I
71,4

7 !,h
71.7
7t q

1L,1

7L5

?0,61

41,7 t

.".1

;i:il
!".11

..J I

51.01

50,81

50,0 
i

48.9

48.6l
48.2

4e.91

tt,7

:q,0
4t.E
rqi
49,6

49,B

50.4

50.4

srt,0

50,4

49,9
4r,s

50.4

rl
( 25.904 t

{ ?.75?l
117.4rr 4 {

118,414 
|

r1E.{601

r rlE. igs l

107.5271

104.1001
l

9E.l?01

91.5951

88,ls6l
86.7?1

?7,0t? 
]

97.975

99,968

101,740

{ 101,5I7
101,177

101.729

100.4?1
c9 117

100,447

104,&56

104.916

1rr5,211

i ror.oqzl,_
IUI.JJ6I roo. rrr

I

I rl) l .748

I 101.476

'l.: ?5,8751

i 1t9.55s1
r 17.2r 4 1

r 18.2171

l1f .2-1i 
Ii 118.356t

1l)7.2EBI

101.8681

e7.Eezl

e1.174l

87.9101

86.501]

96.7?1]

97.755
qq TiIq

101.507

{ Irr1.106
100.947

101 .491

I r00.185

I w.ur
| 1l](].2 r?

| 104.420

I tttq,tltI ror. rzzI roo.erc

I tot,tro
I rl)|],109

i rur.s::
I 101,260

-l
9.t!l
0.0I I

{},()ol

0,0i1
0.u01

0,001

u.00 t
I

t'!9t
i'9lt
iJ.o() 

|

u.ur) I

__-l
0-00

t].ooJ

0,00
ll.0u

0,0r1

{,00
0, u]
0.I0
0.0i)

0,00

0,00

0. l]0

!.00
0.0!
{, u0

0.00
1},00

0.00

0,00

-0.001 0.i]l]l
c.000 0,1971

r).00u 0, IYu t

-_t!.ryi I'1tl1
!.Yry ?'11110,{lu0 q,?.jY

0.000 0.219]
i).000 0.:l?
0,000 0.??E

0.000 il.??1

0,000 t),?26

0,000 0.220

0,000 0.?28

0.000 0.2I0
0.000 0,221

0,000 0,:lI
0,00i (j,?Il
0,000 0.?10

0.0a0 a,zlB
0,000 0.2311

0.l]00 0.211

0.000 0,??8

0.000 a.?16

0.000 0,140

0,000 0,?19

0.000 0,2?J

0.000 0.?26

0,000 0.?!4
{1.000 a.?26

i,00{] 0.?16

0,0u1

.1.1:tr], ttl
?4.00i
?4.001

Ir.!rl'#,r\ 
|

24.00 
|

24.00t

24.{)l)l
24.00 |

?4.001
!

?4.0q1

?4.001

?4.00 
]

?n nat

24.00
,( cq

?4,00

?4,00

?4.r10

24.00

24.00

?4.00

2{,00
?4,00

24,00

Zq,t)fi
24,00

24,00

llrsro i:, ! t01t,801 101t.229' 0.01 -0,001 6.573 697,75

To",.n,p. = Txap + T"," +

741,00{ - iT7,?.:1 + 45'97-{ +

I,... + Ic.r t.-t.",, +

0.(Xf.{ + 0,:',:1i +
T3fl, rrr + Tnp6r,a8.

{j,(}+.{ + 0.0Sr
ParufigpoBIa ou[60(l

l{) naparetp { nin
()) napaHET! i frall

{I) oEpus aar,rr(a
{I) delta_t ( min

(ft1 nEpesanycl

([] [opperq,raros
iii ) rneiirpoflHTa{fie

T/ll EBor rlcern
rapacra[I(H HTsrol{

!ren
IIran ]

EIOA

Irarx ]
EoEp

I rrrr ]
6n

I rorr ]
llap
Irac)

71-08-?1 00r00

?l-07-21 00rq0

1?5?6.0704C

17 5.1t , 1r1 1! 1

56917i,6?1

166156.890

567863,44{

56485.1.21i

87.04

E7, tl-I

64501.9I
63806,1S

Hrsro 6?.96EtE l{16,801 1010.?29' 0,0r 697.75

'tufu. 744.C+r
HC-A-ar4! Orgll}ll_H2OSxolDx[ 2,4t oa_o7_13 r4t Bt-t -2.4'

ih$ i{L


